2020-2022 HOME COUNTY PAYMENTS TO MEMBER LIBRARIES									
	20	20		20	21	_	20	22	
Library	County Payment	% Reimbursement	_	County Payment	% Reimbursement	-	County Payment	% Reimbursement	Change from 2020-2022
Clark	Note: Clark Co. rein	mburses home libra	ries f	for circulations to	residents from Ma	rath	on County.		
Abbotsford	\$17,292.37	78.00%		\$21,024.32	78.00%		\$21,521.32	86.78%	\$4,228.95
Reimb. Marathon Co. Circulations	\$14,226.28	142.17%		\$17,566.54	143.17%		\$17,566.54	157.61%	\$3,340.26
Colby	\$82,789.20	78.00%		\$76,073.60	78.00%		\$77,871.95	68.78%	(\$4,917.25)
Reimb. Marathon Co. Circulations	\$76,762.64	150.32%		\$69,953.87	149.73%		\$69,953.87	130.58%	(\$6,808.77)
Dorchester	\$18,141.92	78.00%		\$15,011.57	78.00%		\$15,366.32	114.38%	(\$2,775.60)
Reimb. Marathon Co. Circulations	\$11,866.58	129.02%		\$13,854.96	149.99%		\$13,854.96	217.51%	\$1,988.38
Granton	\$16,696.78	78.00%		\$18,241.96	78.00%		\$18,673.11	104.70%	\$1,976.33
Reimb. Marathon Co. Circulations	\$124.09	78.58%		\$68.80	78.29%		\$68.80	105.09%	(\$55.29)
Greenwood	\$45,011.37	78.00%		\$44,128.31	78.00%		\$45,171.49	85.51%	\$160.12
Reimb. Marathon Co. Circulations	\$62.72	78.11%		\$3.39	78.01%		\$3.39	85.52%	(\$59.33)
Loyal	\$40,394.76	78.00%		\$36,949.94	78.00%		\$37,823.65	81.91%	(\$2,571.11)
Reimb. Marathon Co. Circulations	\$163.30	78.32%		\$152.77	78.32%		\$152.77	82.25%	(\$10.53)
Neillsville	\$70,753.58	78.00%		\$66,096.88	78.00%		\$67,659.90	91.89%	(\$3,093.68)
Reimb. Marathon Co. Circulations	\$788.22	78.87%		\$1,024.51	79.21%		\$1,024.51	93.29%	\$236.29
Owen	\$33,282.19	78.00%		\$30,624.21	78.00%		\$31,348.64	52.84%	(\$1,933.55)
Reimb. Marathon Co. Circulations	\$162.59	78.38%		\$944.75	80.41%		\$944.75	54.43%	\$782.16
Thorp	\$35,440.70	78.00%		\$38,728.78	78.00%		\$39,644.64	114.30%	\$4,203.94
Reimb. Marathon Co. Circulations	\$526.40	79.16%		\$125.83	78.25%		\$125.83	114.67%	(\$400.57)
Withee	\$28,049.56	78.00%		\$24,514.14	78.00%		\$25,093.69	143.40%	(\$2,955.87)
Reimb. Marathon Co. Circulations	\$76.97	78.21%		\$1,292.03	82.11%	-	\$1,292.03		\$1,215.06

Forest							
Crandon	\$65,562.00	80.00%	\$81,831.00	70.00%	\$86,644.00	80.00%	\$21,082.00
	60.272.00	00.000/	¢0.220.00	70.00%	¢10.111.00	99.999/	ć1 0.41 00
Laona	\$8,273.00	80.00%	\$8,238.00	70.00%	\$10,114.00	80.00%	\$1,841.00
Wabeno	\$3,877.00	80.00%	\$5,524.00	229.10%	\$5,049.00	80.00%	\$1,172.00
Langlade							
Antigo	City/County Join	t Library					
Lincoln							
Merrill	\$449,305.00	97.80%	\$457,661.00	99.00%	\$453,671.94	100.51%	\$4,366.94
Tomahawk	\$177,100.00	94.36%	\$182,000.00	94.04%	\$193,000.00	109.70%	\$15,900.00
Marathon							
Marathon Co.	Consolidated Cour	nty Library					
	System						
Oneida							
Minocqua	\$155,879.00	112.85%	\$157,481.00	122.49%	\$160,600.00	125.99%	\$4,721.00
Rhinelander	\$181,117.00	134.15%	\$182,718.00	134.33%	\$186,336.00	149.11%	\$5,219.00
Three Lakes	\$43,642.00	284.68%	\$45,244.00	228.95%	\$46,108.00	490.97%	\$2,466.00
Taylor							
Gilman	\$54,319.10	123.76%	\$54,323.05	126.55%	\$54,323.05	111.75%	\$3.95
Medford	\$259,592.60	133.02%	\$259,612.35	117.78%	\$259,627.83	131.03%	\$35.23
Rib Lake	\$56,488.27	269.71%	\$56,492.21	212.82%	\$56,492.21	236.29%	\$3.94
Stetsonville	\$36,742.77	206.11%	\$36,745.74	218.49%	\$36,745.74	208.84%	\$2.97
Westboro	\$12,001.91	680.67%	\$12,000.89	1288.69%	\$12,000.89	716.26%	(\$1.02)

	2022 H	OME COUNTY (A	ACT 150) PAYMEN	ITS TO MEMBER LIB	RARIES	
Library	Home County	2020 Cost Per Circ	*2020 Circs to Home County Residents w/o Library	2022 100% Reimbursement	2022 County Payment	2022 % Reimburse ment
,			libraries for circulat Marathon County. A	ry reimburses home ions to residents from Additional \$8,781 was le libraries in 2022.	,	
Abbotsford	Clark	\$6.25	3,968	\$24,800.00	\$21,521.32	86.78%
Abbotsioiu		hon Co. Circulations	3,300	724,000.00	\$17,566.54	157.61%
					7 = 7 J 3 3 0 1 3 4	13710170
Colby	Clark	\$5.29	21,401	\$113,211.29	\$77,871.95	68.78%
Consy		thon Co. Circulations	22) 101	Ψ113/211.23	\$69,953.87	130.58%
					ų seyseenes	20010071
Dorchester	Clark	\$8.03	1,673	\$13,434.19	\$15,366.32	114.38%
	Reimb. Mara	thon Co. Circulations	,	. ,	\$13,854.96	217.51%
Granton	Clark	\$3.36	5,308	\$17,834.88	\$18,673.11	104.70%
	Reimb. Mara	thon Co. Circulations			\$68.80	105.09%
Greenwood	Clark	\$7.82	6,755	\$52,824.10	\$45,171.49	85.51%
	Reimb. Mara	thon Co. Circulations			\$3.39	85.52%
Loyal	Clark	\$9.30	4,965	\$46,174.50	\$37,823.65	81.91%
•	Reimb. Mara	thon Co. Circulations			\$152.77	82.25%
Neillsville	Clark	\$6.15	11,972	\$73,627.80	\$67,659.90	91.89%
	Reimb. Mara	thon Co. Circulations			\$1,024.51	93.29%
Owen	Clark	\$11.79	5,032	\$59,327.28	\$31,348.64	52.84%
	Reimb. Mara	thon Co. Circulations			\$944.75	54.43%
Thorp	Clark	\$3.94	8,803	\$34,683.82	\$39,644.64	114.30%
	Reimb. Mara	thon Co. Circulations			\$125.83	114.67%
Withee	Clark	\$11.43	1,531	\$17,499.33	\$25,093.69	143.40%
	Reimb. Mara	thon Co. Circulations			\$1,292.03	150.78%
					4	
Crandon	Forest	\$9.73	11,131	\$108,304.63	\$86,644.00	80.00%
_				***	445	
Laona	Forest	\$11.42	1,107	\$12,641.94	\$10,114.00	80.00%
		4		40.5.5.5	Am Acc 5=	22 222
Wabeno	Forest	\$7.83	806	\$6,310.98	\$5,049.00	80.00%

		4				
Antigo	Langlade	\$9.32		City/County Joint	Library	
Merrill	Lincoln	\$10.46	43,151	\$451,359.46	\$453,671.94	100.51%
Tomahawk	Lincoln	\$9.33	18,857	\$175,935.81	\$193,000.00	109.70%
Marathon Co.	Marathon	\$9.95	Со	nsolidated County Lib	orary System	
Minocqua	Oneida	\$5.09	25,043	\$127,468.87	\$160,600.00	125.99%
Rhinelander	Oneida	\$11.81	10,581	\$124,961.61	\$186,336.00	149.11%
Three Lakes	Oneida	\$12.26	766	\$9,391.16	\$46,108.00	490.97%
Gilman	Taylor	\$4.77	10,191	\$48,611.07	\$54,323.05	111.75%
Medford	Taylor	\$4.89	40,519	\$198,137.91	\$259,612.35	131.03%
Rib Lake	Taylor	\$7.88	3,034	\$23,907.92	\$56,492.21	236.29%
Stetsonville	Taylor	\$6.90	2,550	\$17,595.00	\$36,745.74	208.84%
Westboro	Taylor	\$11.17	150	\$1,675.50	\$12,000.89	716.26%

	2021 HOME COUNTY PAYMENTS TO MEMBER LIBRARIES								
Library	Home County	2019 Cost Per Circ	libraries for circulat	2021 100% Reimbursement ty reimburses home ions to residents from on County.	2021 County Payment	2021 % Reimburse ment			
Abbotsford	Clark	\$4.15	6,495	\$26,954.25	\$21,024.32	78.00%			
	Reimb. Marat	hon Co. Circulations			\$17,566.54	143.17%			
Colby	Clark Reimb. Marat	\$3.67	26,575	\$97,530.25	\$76,073.60 \$69,953.87	78.00% 149.73%			
Dorchester	Clark Reimb. Marat	\$7.20	2,673	\$19,245.60	\$15,011.57 \$13,854.96	78.00% 149.99%			
Granton	Clark Reimb. Marat	\$3.51 hon Co. Circulations	6,663	\$23,387.13	\$18,241.96 \$68.80	78.00% 78.29%			
Greenwood	Clark Reimb. Marat	\$4.84 hon Co. Circulations	11,689	\$56,574.76	\$44,128.31 \$3.39	78.00% 78.01%			
Loyal	Clark Reimb. Marat	\$6.82	6,946	\$47,371.72	\$36,949.94 \$152.77	78.00% 78.32%			
Neillsville	Clark Reimb. Marat	\$4.23	20,033	\$84,739.59	\$66,096.88 \$1,024.51	78.00% 79.21%			
Owen	Clark Reimb. Marat	\$4.89 hon Co. Circulations	8,029	\$39,261.81	\$30,624.21 \$944.75	78.00% 80.41%			
Thorp	Clark Reimb. Marat	\$3.21 hon Co. Circulations	15,468	\$49,652.28	\$38,728.78 \$125.83	78.00% 78.25%			
Withee	Clark Reimb. Marat	\$7.21	4,359	\$31,428.39	\$24,514.14 \$1,292.03	78.00% 82.11%			
Crandon	Forest	\$7.83	14,930	\$116,901.90	\$81,831.00	70.00%			
Laona	Forest	\$8.23	1,430	\$11,768.90	\$8,238.00	70.00%			
Wabeno	Forest	\$6.85	352	\$2,411.20	\$5,524.00	229.10%			

Antigo	Langlade	\$5.46		City/County Joint	Library	
Antigo	Lungiaue	\$5.40		City/County Joint	LIDIUTY	
Merrill	Lincoln	\$6.42	72,009	\$462,297.78	\$457,661.00	99.00%
Merriii	Lincom	\$0.42	72,009	3402,297.76	\$457,001.00	99.00%
Tomahawk	Lincoln	\$5.97	32,417	\$193,529.49	\$182,000.00	94.04%
Tomanawk	Lincom	\$3.37	32,417	\$193,329.49	\$182,000.00	34.0476
Marathon Co.	Marathon	\$4.53	Co	nsolidated County Lik	orary System	
iviaratiioii co.	- Iviaraciion	Ş4.55	CO	nsonaatea coanty Lie	nary System	
Minocqua	Oneida	\$3.24	39,681	\$128,566.44	\$157,481.00	122.49%
·····ouquiu		ψ3.2 1	33,001	ψ120,300111	ψ137) 101100	12211370
Rhinelander	Oneida	\$6.10	22,299	\$136,023.90	\$182,718.00	134.33%
		, , ,	,	1 22/2 2 2 2	, , , , ,	
Three Lakes	Oneida	\$8.31	2,378	\$19,761.18	\$45,244.00	228.95%
					•	
Gilman	Taylor	\$3.72	11,539	\$42,925.08	\$54,323.05	126.55%
Medford	Taylor	\$2.93	75,227	\$220,415.11	\$259,612.35	117.78%
Rib Lake	Taylor	\$5.53	4,800	\$26,544.00	\$56,492.21	212.82%
Stetsonville	Taylor	\$4.42	3,805	\$16,818.10	\$36,745.74	218.49%
Westboro	Taylor	\$7.45	125	\$931.25	\$12,000.89	1288.69%

	2020 HOME COUNTY PAYMENTS TO MEMBER LIBRARIES								
Library	Home County	2018 Cost Per Circ	libraries for circulati	2020 100% Reimbursement Ty reimburses home Tions to residents from Ton County.	2020 County Payment	2020 % Reimburse ment			
Abbotsford	Clark Reimb Marati	\$4.14	5,355	\$22,169.70	\$17,292.37 \$14,226.28	78.00% 142.17%			
Colby	Clark	\$3.66	29,000	\$106,140.00	\$82,789.20 \$76,762.64	78.00% 150.32%			
Dorchester	Clark Reimb. Marati	\$5.77 hon Co. Circulations	4,031	\$23,258.87	\$18,141.92 \$11,866.58	78.00% 129.02%			
Granton	Clark Reimb. Marati	\$3.11 hon Co. Circulations	6,883	\$21,406.13	\$16,696.78 \$124.09	78.00% 78.58%			
Greenwood	Clark Reimb. Marati	\$4.48 hon Co. Circulations	12,881	\$57,706.88	\$45,011.37 \$62.72	78.00% 78.11%			
Loyal	Clark Reimb. Marati	\$6.48	7,992	\$51,788.16	\$40,394.76 \$163.30	78.00% 78.32%			
Neillsville	Clark Reimb. Maratl	\$3.83	23,684	\$90,709.72	\$70,753.58 \$788.22	78.00% 78.87%			
Owen	Clark Reimb. Maratl	\$4.74 hon Co. Circulations	9,002	\$42,669.48	\$33,282.19 \$162.59	78.00% 78.38%			
Thorp	Clark Reimb. Maratl	\$3.20	14,199	\$45,436.80	\$35,440.70 \$526.40	78.00% 79.16%			
Withee	Clark Reimb. Maratl	\$7.33	4,906	\$35,960.98	\$28,049.56 \$76.97	78.00% 78.21%			
Crandon	Forest	\$5.25	15,610	\$81,952.50	\$65,562.00	80.00%			
Laona	Forest	\$7.87	1,314	\$10,341.18	\$8,273.00	80.00%			
Wabeno	Forest	\$6.47	749	\$4,846.03	\$3,877.00	80.00%			

Antigo	Langlade	\$5.28		City/County Joint	Library	
Merrill	Lincoln	\$6.08	75,559	\$459,398.72	\$449,305.00	97.80%
		1			4	
Tomahawk	Lincoln	\$5.78	32,471	\$187,682.38	\$177,100.00	94.36%
Marathon Co.	Marathon	\$4.89	Co	nsolidated County Lik	orary System	
marathon co.	Transcrion.	ψ 1.03		nsonaatea coanty En	rary system	
Minocqua	Oneida	\$3.20	43,166	\$138,131.20	\$155,879.00	112.85%
Rhinelander	Oneida	\$5.93	22,768	\$135,014.24	\$181,117.00	134.15%
	0 11	40.00	4.047	445 222 42	442.542.00	204 600/
Three Lakes	Oneida	\$8.30	1,847	\$15,330.10	\$43,642.00	284.68%
Gilman	Taylor	\$3.85	11,400	\$43,890.00	\$54,319.10	123.76%
		70.00	,	<b>+</b> 10,000 1100	<i>+-</i> 1,0 = 0.1=0	
Medford	Taylor	\$2.94	66,377	\$195,148.38	\$259,592.60	133.02%
Rib Lake	Taylor	\$4.00	5,236	\$20,944.00	\$56,488.27	269.71%
			_	1.=	1	
Stetsonville	Taylor	\$4.80	3,714	\$17,827.20	\$36,742.77	206.11%
Wosthors	Taulor	\$6.73	262	¢1 762 20	¢12 001 01	600 670/
Westboro	Taylor	\$6.73	262	\$1,763.26	\$12,001.91	680.67%